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OCHOBHOIO METOIO JHUCIHIUIIHA € BCEOIYHMI PO3BUTOK KOMIIOHEHTIB MEPEeKIaaabKol
KOMYHIKaTUBHOI KOMIETEHINT 3ajUii BUKOHAHHS PI3HOCHPSIMOBAHMX 3a LIJHOBOI MOBOIO
(YkpaiHcbka Ta aHrjiiickka) ¢GopM Ta BHJIIB Taly3€BOro IMEpeKiaay, pO3TalyKeHHX 3a
CUTyaIliIMH MMMChMOBOT MOBJICHHEBOI JIISIIBHOCTI MEpeKIIaiada K KOMyHIKaHTa-TIOCepeIHUKA.

3aCBO€HHSI JIEKCMYHUX Ta TEPMIHOJIOTIYHUX MpoOJieM Mepekyany nependayae
OMAaHyBaHHS TaKMX TEM: CIOCOOM MepeKkiaay JEeKCUYHUX OJUHHUIIb, IepPeKIalalbKi JIEKCHUHI
TpaHcopMallii, nepekiaaa TepMiHIB (mpedikcanbHUX, Cy(QIKCATbHUX, CKIAJAHMX), (albIINBi
Jpy31 epekiagava, nepexiaa ciaiB-peasii, Ha3B, BIaCHUX IMEH.

[lepexnan ramy3eBUX TEKCTIB Iepeadadyae OTpUMaHHS HaBUYOK BiITBOPEHHSI HAYKOBO-
TeXHIYHUX TekcTiB 3 Tem: «lIpaBo», «Texnomorii», «Tpancmopty, «Dinocodisy»,
«Ilomitonorisay, «Ilcuxonorisy, «Panio inxenepis» «I'iaporpadis», «ActpoHoMis, «Di3nukay
«Actpodizuka», «llrtyunmii iHTENekT», «lcTopis pemiriit»y, «Martemarukay, «baHkiBcbka
crpaBa», «Moaudikaiis TOBEIIHKNY, «ApXeoioris», «AHTponoyoris», «CTaTHCTHKAY,
«Cropt» (3aCBOEHHSI TEPMIHOJIOTi, BUBYCHHS JICKCHYHUX, TPAMAaTUYHUX Ta CTUIICTUYHUX
0COOJIMBOCTEN TaKUX TEKCTIB).

Jlns mepeknagy Ta JIIHTBICTUYHOTO aHali3y TEKCTIB CTYACHTH MOXYTb KOPHUCTYBATHCH
CIIOBHUKAMU 3a MMOCUJIAHHSIMMU: https://www.multitran.com/,
https://dictionary.cambridge.org/ru/ https://www.merriam-webster.com/.

Marepiajau 10 NpaKTHYHUX 3aHATH 1-4

1. Law
2. Translation of dictionary equivalents, the choice of variant equivalent.

1. Translate the text paying attention to the use of terminology.

Impact of the UN on International Law

The UN began its life with a membership of 50 nations. In the 1990s, because of the growth of
newly independent nations, that number has reached 180. The aims and purposes of the organization
encompass the maintenance of peace and security and the suppression of acts of aggression. The
Charter also expressly includes among its objectives the maintenance of respect for the obligations
arising from treaties and other sources of international law. For that reason the Charter established the
International Court of Justice as one of the most important UN organs and specifically charged the
General Assembly with the progressive development and codification of international law. To carry out
this task, the General Assembly has created two subsidiary organs: the International Law
Commission and the Commission on International Trade Law.

The International Law Commission, on assignment by the General Assembly, has prepared
drafts of treaties codifying and modernizing a number of important subjects of international law, such
as various aspects of the law of the sea (1958), diplomatic relations, consular relations, law of treaties
between nations, succession of states in respect to treaties, law of treaties between nations and
international organizations, and immunity states from the jurisdiction of other states. Upon acceptance
by the General Assembly, these drafts are submitted to international conferences convoked by the UN
for the negotiation of the respective conventions.

In some instances, the UN has convoked conferences to negotiate treaties without prior proposal
by the International Law Commission. The most important example was the third UN Conference on
the Law of the Sea, which terminated its work in 1982 with the draft of a convention for a comprehensive
regime governing all aspects of the peaceful use of the oceans. Another example is the text of the
convention governing the activities of nations on the moon and other celestial bodies, which was
adopted by the General Assembly in 1979 and went into effect in 1984.

Since the UN Charter bans the use of force against the territorial integrity or political
independence of any state, the UN has refrained from addressing aspects of the law of war and
neutrality. Nevertheless, the four Geneva conventions of 1949-the so-called Red Cross Conventions-
formulated improved agreements relative to the amelioration of the condition of wounded and sick


https://www.multitran.com/
https://dictionary.cambridge.org/ru/
https://www.merriam-webster.com/

members of the armed forces in the field and at sea, the treatment of prisoners of war and the protection
of civilian persons in wartime, thereby instilling new life into the humanitarian principles of
international law.

International law regulates intercourse among nations in peacetime and provides methods for

the settlement of disputes by means other than war. Apart from procedures made available by the UN,
these methods include direct negotiation between disputants under the established rules of diplomacy,
the rendering of good offices by a disinterested third party, and recourse to the International Court of
Justice. Other peacetime aspects of international law involve the treatment of foreigners and of
foreign investments; the acquisition and loss of citizenship; and status of stateless persons; the
extradition of fugitives; and the privileges and duties of diplomatic personnel.

2.
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Match the words on the left to their definitions on the right

aims and purposes a) natural objects visible in the sky

convoke b) a version of some document that you
make before you make the final version

negotiate c) to begin to function, to operate, in force

celestial bodies d) to call together, to meet or assemble

refrain from e) the satisfying of a claim or demand

to go into effect f) smth. intended or desired to be attained
by one’s efforts

amelioration g) to abstain from an impulse to say or to
do smth.

draft of treaties h) the state of being given the rights,
privileges and duties of a citizen

citizenship 1) the state of being made better

settlement J) to deal with other as in preparation of

treaty or contract
Translate the sentences using active vocabulary

i1 Ta 3aBAaHHA OpraHizallii OXOIUIIOIOTh: JOTPUMAHHS MUPY Ta O€3MeKH, MPUAYIIEHHS aKTiB
arpecii.

Cratryr OOH nependauae Takox MOBayKHE CTaBJICHHS 10 000B’13K1B, 00yMOBIIEHUX JOTOBOPAMHU
Ta IHIIUMH JDKEepeTaMu MIXXKHAPOJHOTO TpaBa.

VY BuUMaJgKy MOpPYILIEHHS JOTOBOPY OJIHIEI0 3 CTOPIH, BOHHM MOXYTh pO3ipBaTH JOTOBIp B
OJTHOCTOPOHHBOMY HOPSAKY.

MixHapoHa IpaBoBa KOMICIS 3a Jopy4eHHsAM [ eHepaiibHOT AcaMOIiei roTye IpOeKTH yrol, 110
CHCTEMaTHU3YIOTh Ta MOJIEPHI3YIOTh 3HAYHY KIIBKICTh YroJl MKHApOJHOTO MpaBa, cepell sIKUX
pPI3HOMAHITHI acleKTH MOPCHKOTO TMpaBa, 3aKOH NPO JIOTOBOPU MDK JepaBami,
MIPaBOHACTYIHICTH JIep’KaB CTOCOBHO JIOTOBOPIB TOLIO.

[licns yknmagaHHS Ta MiANUCaHHS OaraTOCTOPOHHBOTO JIOTOBOPY BCIM Jiep)KaBaM  CHij
JNOTPUMYBATUCA HOTO MOJIOKEHD.

Kpainu, mo He mpuenHaroThCsA 10 JOTOBOPY IpO HEHamaj] ado He MOB’si3aHl YroJor0 IMpo
PO330pOEHHS MOXKYTh 3aBJIaTH 3HAYHUX 30UTKIB EKOHOMIYHOMY Ta BIHCHKOBOMY CEKTOpaM.
[Ticns cxBanpHOrO pimeHHs ['eHepanbHOi AcamOiei mpoekTH NepefaroThbCsi Ha MIXHApOIHI
koH(pepeHtii, ki ckinukae OOH s 06roBopeHHS BIAMOBITHUX KOHBEHIIIN.

MixHapo/aHe MPpaBO PETYNIOE CTOCYHKH MIXK JepXaBaMH Yy MUPHHM yac 1 3abe3nedye MEeToAu
JUIsL BPETYJIIOBaHHS KOH(IIIKTIB METOJaMH 1HIIIMMU HIK BilfHA.

Jlo iammx acnekTiB MDKHaApOJHOTO TIpaBa HaJjeXaTh CTABICHHS 10 1HO3EMIIIB Ta 1HO3EMHUX
iHBECTHULIH, HAOYTTS Ta BTpaTa TPOMAJISHCTBA, CTATYC 0COOM 0€3 rpoMa/IIHCTBA, EKCTPAIHIIis
O1JKEHIIIB TOILO.



10. Ockinbku CratyT OOH 3a00pOHSsi€E BUKOPUCTAHHS CHJIM MPOTH TEPUTOPIaIbHOI IITICHOCTI UM
MOITUYHOT HEe3JIEXKHOCTI Oy b-saKoi nepxkaBu OOH He mocayroByeThCsl 3aKOHOM TPO BIHHY Ta
HeHTpaiTeT.

4. Translate the following sentences, paying attention to the terms that have to be translated based
on the choice of variant equivalents.

1. Conflict may according to some theorists, have a positive social function.

2. One such refinement is a damping device that shortens the time required for the swinging of the
weighing arm to cease.

3. Acetylcholine acts like a” key” — it is released from one cell, which it activates by fitting into a
“lock”, called a receptor.

4. In CAD, engineers use specialized computer software to create models that represent the
geometry and other characteristics of objects.

5. In the fields of geomorphology and hydrology, aerial photographs find application in watershed
studies, flood control and evaluation of water pollution and shoreline changes.

6. Many analog devices have been replaced by digital devices, mainly because digital instruments
can better deal with the problem of unwanted information or noise.

7. Policy is guided by the recognition that crime is often socially produced, that criminal suffer
from “problems in living”, and that only truly dangerous offenders should be incarcerated.

8. If atemplate matches some area of the sample image, the image might contain the corresponding
object; unfortunately, the match is usually imperfect due to image noise, object variation, object
rotation, changes in lighting and other factors.

9. To encipher a message or datum requires knowing n plus number e, the latter also known to
everyone. Although everyone can encipher a message or datum using the known numbers,
decipherment can be accomplished only by someone who knows n and a private number, d.

10. The personality structure and life history of the psychopath are quite different from those of the
person whose antisocial or criminal behavior is related to some underlying emotional
disturbance, and from those of a person whose antisocial behavior results from living in a
criminal subculture or in an environment in which such behavior is expected or rewarded.

5. Read the article carefully, find the answers to the following questions, and translate the article
considering the use of terminology.

1. What has caused the government to begin a prison building program?

2. How is it suggested in the article that the parole system actually increases the number of
people in prisons?

3. What happens when a person on a suspended sentence commits a crime?

4. Why is the government in a dilemma?

Punishment takes many forms

Once again, rising crime and the workings of the penal system are back in the news. Parliament
has recently voted on capital punishment, police chiefs have voiced their concern at the growth of
violent public disorder and there have been riots at several British jails.

Meanwhile, the British Home Office has been criticized over the rising prison population and
overcrowding. Forced to deal with a steady increase in convictions for violent crime, it has launched an
extensive prison-building programme. Providing more jails, however, merely tackles the symptoms, for
the size of the prison population is affected by two factors: the number of offenders, and the sentencing
policy of the courts. Thus, the government has also had to consider ways to reduce the prison population
through the use of non-custodial alternatives.

The most widely used device for reducing the number of prisoners in jail is the remission and
parole system. This enables prisoners who have behaved themselves to “earn” their release before their
original sentence has been completed. Some theorists believe that the over-use of this system has



encouraged the British courts to impose sentences of up to a third longer than they might have
previously, in order to compensate for potential early release.

The courts also have the power to impose a suspended sentence. Thus, if a suspended sentence
of, for example, two years is imposed, the offender will not have to go to prison; but if he or she is
convicted of another crime within these two years, then the new sentence will have the original sentence
added to it. There is some evidence that the suspended sentence is used too frequently, with the result
that the number of prisoners actually increases. Some reports indicate that as many as half of those given
suspended sentences would not have been given a jail sentence for their first offence and are
consequently sentenced twice over for their second offence.

Another option is the Community Service Order, whereby the judge can sentence a criminal to a
maximum of 240 hours of community-based practical work. This serves both as a way of making
amends to society and of avoiding the potentially harmful consequences of a period in prison.

The most common alternative to jail is a fine. Although appropriate for minor offences, fines
are seen by the public as too lenient a punishment for those guilty of violent crime. Judges who impose
fines are frequently the target of bitter criticism in the press, and are therefore reluctant to use this cost-
effective and straightforward form of punishment.

One or two ideas have surfaced in the last few years, the most revolutionary being the use of
electronic lagging. Ministers have decided to introduce a pilot scheme whereby British offenders will
be forced to wear an electronic device while they are on probation, enabling their whereabouts to be
monitored by police. There are also plans to extend the community service order to include help for the
aged and sick.

However, all these initiatives illustrate an underlying dilemma: by building new prisons and by
encouraging the courts to impose alternative punishments, the government is trying to pursue two
contradictory policies at once. The problem with increasing the number of prisons is that more places
tend to result in more prison sentences. Research recently published in the United States indicates that
those states which embarked on prison building programmes ended up increasing their prison
populations, while those which closed down a number of prisons actually reduced the number of people
in jail to proportionally lower levels.

6. Translate the following words and word combinations into English in a quick manner.

Bectu cynose 3acinaHHs, roJ0BYBaTH; 3BUHYyBauyBaHUH, [103MBaY, CUCTEMA IIOKapaHb, CMEPTHA Kapa,
JIOBIYHE YB’I3HEHHS, TPOMaICbKI POOOTH, YMOBHUM BUPOK, TOMUJTYBaHHS, BUHOCUTH BUPOK, 3BUIBHSTH,
3BUIBHSTH M1J] 3aCTaBy, HE3HAYHE MTPABONOPYLICHHS, M’ sIKE IIOKapaHHs, (paJbIIMBOMOHETHHK, apepucT,
KpUMiHaJIbHE MUHYJIE, YB I3HIOBATH, B’ S3HI, IITAT PO3B1IKH, IPABOOXOPOHHI OpraHu, XaOapHUIITBO.

7. Think of the proper translation of the following words and word combinations into Ukrainian.

Prison/ jail (Am), to put in prison, to put smb under arrest, to release from prison, prisoner/ inmate,
prisoner of war, to imprison, imprisonment, prison term;

incarceration, to be incarcerated, the rate of incarceration;

custody, to be in custody/ to be remanded/held in custody, to be apprehended;

to convict smb of smth, convict, to be convicted of smth, to have conviction for smth, to overturn the
conviction;

to outlaw, an outlaw;

to appeal, appeal, to appeal against the conviction, to dismiss an appeal;

evidence, forensic evidence, to produce evidence, to consider the evidence/ testimony/ proof;

witness, a witness for the prosecution/ for the defence, a witness to a crime;

charges against smb, to be charged with, to drop charges against smb;

to plead guilty/ not guilty to a crime, plea;

bail, on bail, to be put on bail, to stand bail for smb;

parole, on parole, to be released on parole, remission and parole system, non-custodial alternatives

the age of criminal responsibility;



sentence, lenient sentence, suspended sentence, to pass a sentence, to impose a sentence, to suspend a
sentence, to complete a sentence, to serve a prison sentence;

penalty;

probation, to be put on probation, to be on probation;

to suspect smb of smth, suspect, to be under/ beyond suspicion, suspicious-looking to be represented by
a lawyer;

investigation, to undertake investigation;

inquiry, to make inquiries/ inquest;

to find smb guilty/ not guilty, to give smb a free pardon, to acquit smb, to find the case not proven;
major crime, petty crime, minor offence;

a hole-in-the-wall cash dispenser.

8. Give the proper translation of the following offences and inherent words into Ukrainian.

Unlawful possession of a weapon, blackmail, burglary, robbery, armed robbery, shoplifting, petty theft,
kidnapping, arson, trespassing, murder, manslaughter, felony, smuggling, bigamy, conspiracy,
espionage, treason, fraud, forgery, baby- or wife battering, rape, assault, mugging, driving without due
care and attention, drug peddling, hijacking, carjacking, joyriding, sexual abuse, bribery, bribe-taking,
corruption, embezzlement, obscenity, libel, slander, perjury, an offence against property;
to be robbed at gunpoint, to raid, raider, smash-and-grab raid, ram-raid heist, squatters, ravers, hunt
saboteurs;
Some of the sentences: to impose a fine, to pay compensation, to give smb community service, to be
banned from driving, to endorse smb’s licence, revocation of a privilege (e.g. driver’s licence, hunting
permit), to put smb on probation, life imprisonment, death penalty/ capital punishment.

1. Treaties

2. The use of transcoding and calquing during the translation of lexical units.

1. Match the words on the left with the definitions on the right. Give Ukrainian equivalents of

the words.
1) damages a) An adjective referring to a judge or to the law
2) commit b) A disagreement or argument between parties
3) judicial ¢) An agreement reached after an argument
4) innocent d) Any act which is not legal
5) offence e) A set of arguments or facts put forward by one side in a legal proceeding
6) lawyer f) to make an allegation in legal proceedings
7) dispute g) Money claimed by someone as compensation for harm done
8) tribunal h) A specialist court outside the judicial system which examines special
problems
9) case i) to hold someone legally so as to charge them with a crime
10) judge J) not guilty of a crime
11) plead k) A person who makes a claim against someone in a civil court
12) defendant | I) An official who presides over a court
13) claimant m) To send someone to prison or to a court.
14) settlement | n) Someone who is accused of a crime in a criminal case
15) arrest 0) A person who has studied law and can act for people on legal business

2. Translate the following types of treaties:

Global — Multilateral —
International — Formal —
State — Draft —

Union — Commercial —

Bilateral — Economic —



Military — Arms —

Political — Disarmament —

Binding — Non-proliferation —
Test ban —

Unequal — Defence —

Cooperation — Extradition —

Friendship — Boundary —

Non-aggression — Restricted —

Peace —

Put the right word in the gaps (sometimes several variants are possible) and translate the
sentences into English:

draw up
become a party to
reject
review
breach
repudiate
conclude
break

be bound by
prepare
amend

enter into
violate

vote against
adhere to
abrogate



10.
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In September 2010 Japan a commercial treaty with China.

Only the US — a major arms manufacturer - the treaty, saying it wanted to
rely on existing agreements. A total of 139 states voted for the motion.

Countries which do not the treaty can be expelled as members.

The US later the treaty entirely, saying it would harm its economy.

So the original treaties will have to be or a new treaty signed.

In May, the Nuclear Non-proliferation Treaty undergoes one of its five-yearly

It was argued on Tuesday that throwing out Scottish peers with hereditary titles would be
a of the 1707 Treaty of Union between England and Scotland.

The Maori rebels say this would infringe their ancestral rights and treaty
obligations made to their tribal leaders when New Zealand came under European rule in
1840.

The Copenhagen UN summit — between 7-18 December — aims to a treaty to
succeed the 1997 Kyoto Protocol, although observers say this is unlikely.
More than 100 other countries have also signed the treaty, but will not its

restrictions until they agree to ratify it. And that is where the battle is going to be.
4. Translate the sentences into English.

Tak, y Pociiicekiit @enepartii 3 TypeddrHO0 OCh BiKe 85 POKIB J1i€ O€3CTPOKOBUI
JOTOBIp Mpo Apyxk0y Ta OpaTepcTBO, 110 BCTaHOBUB HOBI Kopaonu Mixk CPCP 1
KEMaJTICTCHKOIO pecITyOIIiKoIO.

VYroau CTOCOBHO CKOPOYEHHS CTPATEriyHMX HACTyNaIbHUX 030pOEHD BIAKPUIOTH IIIISIX
JI0 IPUHIUIIOBOTO 3MILHEHHSI 1 po3mHpeHHst [loroBopy MmMpo HEPO3MOBCIOKEHHS SIEPHOT
30poi.

Ha nouatky Oepe3Hsi ykpaiHCbKe OCOIBCTBO NMPUOYIIO 10 MOCKBH 3 MPOEKTOM JOTOBOPY
13 23 MyHKTIB.

Jy>xe BaxxsuBo, 11100 MU MOTJIA TOBEPHYTHCS 10 CUTYallil, KOJIHU BCl Iep>KaBH, SKi
HiANycaNu 1ei J0roBip, JOTPUMYIOThCS HOTO MOJIOKEHb.

Cromyueni IlItaTi € MpakTHYHO €IMHOIO KPAiHOO, SIKA BiJIMOBIISIETHCS IPHETHATUCS JI0
JIOTOBOPY MPO MPOTUIIXOTHI MiHM, KOHBeHIIiT po npaBa IUTHHHU Y1 M1XKHApOIHOTO
KpuMiHanbHOrO cyy. Komiu s BoHa paTudikye 10roBopu npo mpasa JHOIUHHU, BOHA
poouTSH iX HeailicHuMH cTocoBHO odiniiHux oci6 CIIIA.

JloroBip ykiazieHo 3 METOI0 BUKOPUCTAHHS Ha B3aEMOBUT1IHUX YMOBaX ICHYHOYOi
CHCTEMH TPaHCIIOPTYBaHHA Ha(TH, ePEeKTUBHOI ii eKkcIuTyaTallii, yrpuMaHHs B
HAJIeKHOMY CTaHi, a TAKO U1 B3aEMOBUTAHMX [1i MpH 11 TEXHIYHOMY 00CITyrOBYBaHHI.
VY BUMaKy He BAKOHAHHS CTOPOHAMU Y34TUX Ha cebe 3000B’s13aHb, BOHH MOKYTh B
OJTHOCTOPOHHBOMY TIOPSIIKY BHUTH 3 IOTOBOPY.

VYkpaina 3M0xe aBTOMaTUYHO IICIIsl pO3ipBaHHs JOTOBOPY 3axanaTu Bij Pocii BuBectn
YopHOMOPCHKHIT (PIIOT.

5. Translate the following sentences, paying attention to the use of transcoding.

In astronomy, for example, bolometers measure the energy of starlight.

Typical condensation polymers are polyamides, polyesters, and certain polyurethanes.
Creosote is an excellent antiseptic and was formerly used for treatment of chest
infections.

The rotor of a helicopter usually has two or more blades radiating symmetrically from a
central hub.



5. Although the proton is not an elementary particle (it contains three constituent quarks), its
mass is of special importance.

6. By using so-called super heaters, modern boilers can achieve almost 90 per cent fuel
efficiency.

7. A blasting cap[ or exploder is a small charge of a detonator designed to be embedded in
dynamite and ignited either by a burning fuse or a spark.

8. An accelerator card allows a user to upgrade a system to a faster microprocessor without
having to replace the cards, drives, keyboard, or case.

9. Although composite materials have certain advantages over conventional materials,
composites also have some disadvantages.

10. Desegregation is the abolition of social segregation according to ethnic background.

6. Translate the following sentences, paying attention to the use of calquing.

1. The cosmological theory called the big bang theory assumes that the universe began from
a singular state of infinite density.

2. The mathematical compass is a manual mechanical device for drawing circles and
transferring geometric dimensions. Commonly, two legs are hinged with a pivot to form
an inverted vee, one leg having a sharp point and the other fitted with a pen or pencil.

3. Chair and table legs were usually carved in the shape of a curved animal leg terminating
in a bull hoof or lion paw.

4. Engine-propeller combinations on single-engine aircraft are usually located in the nose,
or forward-most, section of the fuselage and pull the aircraft through the air.

5. In other words the vacuum that existed at the time of the big bang was not a stable but an
unstable, high-energy vacuum.

6. Later in the 1970s a group led by Steve Jobs and Steve Wozniak found Apple Computer
in a garage in Silicon Valley. Their focus was on making the personal computer more
“user-friendly.”

7. InJuly 1993 the Clinton administration renounced the Strategic Defense Initiative
because it represented a violation of the 1972 ABM treaty.

8. During the twentieth century the suburbs of London continued to grow until 1935, when
a Green Belt law was instituted to control further growth beyond a ring of parks.

9. The dasheen is sometimes grown as an ornamental houseplant called “elephant’s ear”
because of its, heart-shaped leaves.

10. The federal anticrime act of 1984 put the burden of proof of insanity on the defendant for
federal crimes.

=

Technologies, inventions
2. The use of contextual replacement and modulation during lexical units translation

1. Translate the texts into Ukrainian paying attention to the translation of terms.

Technology

Inventions Today

In former years inventors worked alone, often secretly. They used their own money and
told no one of their work until it was protected by patent. Their background and training were
largely practical. Their solitary habits earned them a reputation, sometimes justified, of being
eccentric.

The individual inventive effort of past years is now largely taken over by organized
research. Large corporations employ their own scientists and spend as much as 5 or 6 per cent of
their income on research. Many of them carry on general, or fundamental, research. They try to




find new scientific facts rather than work on problems that will yield immediate money-making
devices. Yet this fundamental research often leads to popular and salable products. From such
investigation conducted by one large company have come nylon, cellophane, orlon, and dacron.

Universities also do a great amount of fundamental research. For example, the University
of Wisconsin holds a patent on a method of increasing the vitamin D content of foods. Patent
royalties help support university laboratories and many industries also give money to universities
for research purposes. Commercial laboratories, on the other hand, do research for other companies
on a fee basis.

The principal funder of invention in the United States is the federal government. The
majority of the federal money spent for research and development and hence, presumably, for
discoveries and inventions has gone to the aircraft and missiles industry and to the electrical
equipment and communications industry. This distribution of funds has been criticized by some
for creating an imbalance in inventive activity and for being directed toward practical applications
rather than basic knowledge.

The United States is not unique in its emphasis on research and development and in the
large-scale support accorded science and technology. Throughout the world, discovery and
invention have become major tools for achieving national objectives. In Japan, priority is given to
technical education, and scientists and engineers are granted preferential treatment.

Likewise Great Britain has increased its support of scientific and technological inventions.
In the 1960s many Britons complained of a brain-drain as British scientists and engineers were
lured to other countries. As a result, Great Britain set about strengthening its higher educational
system in science and technology in order to regain the premier scientific and technological
position it enjoyed during the 19th century. Even in, the so-called underdeveloped nations there
IS an attempt to promote inventions and discoveries, or at least to adapt those of the developed
Western nations to their own needs.

Inventive Processes

The way for a new invention is prepared by all the previous related inventions and
discoveries. James Watt, for example, could devise a rotary steam engine only because there was
along series of inventions before it, including the crank, gear, wheel, lathe, thermometer, strong
cast iron, knowledge of heat, evaporation, and condensation, and a method of measuring the heat
energy in steam.

Invention today is tied to industrial methods and production. An invention does not come
into common use, and thereby encourage further invention, until it has been mass-produced and
fitted with standardized, interchangeable parts. Only by being made in large quantities and by
being widely distributed is it actually tested through use. This wide use produces further
improvements and changes, which may in themselves, become new inventions.

A distinguishing feature of 20th century research is the fact that it represents systematized
invention: it is largely devoted to technological research, discovery, and innovation. In order to
accomplish this, many persons are brought together from a wide array of disciplines to form the
research team, each member contributing his own specialized knowledge. At the same time,
modern research embodies a new methodology based on the systematic application of science to
technology. Thus, the long line of inventions that started in the prehistoric past appears to be
continuing.

History of Technology

Technology refers to the ways in which people use discoveries to satisfy needs and desires
and to alter the environment to improve their lives. From the very beginning of human life on
earth, people have had to work to obtain food, clothing, and shelter. Throughout human history,
men and women have invented tools, machines, materials, and techniques to make their work
easier. They also discovered power sources such as waterpower and electricity to increase their
work rate.

Technology, therefore, involves the use of tools, machines, techniques, and sources of
power to make work easier and more productive. It is the human activity that changes the material



world to satisfy human needs. As such, technology comprises the vast body of knowledge and
devices by which humans have progressively mastered their natural environment over the
centuries.

Of course, when we speak of technology today we are looking at it in a much narrower
sense. Generally, we are referring to industrial technology, or the technology that began about 200
years ago with the development of power-driven machines, growth of the factory system, and
mass production of goods and that created the basis for our modem society. Today we often say
that we live in an age of technology meaning that the pace of invention and change has increased
with amazing rapidity. In fact, the rate of change in science and technology has become so
increasingly swift that according to one estimate, 90 percent of all the scientists who had ever lived
were alive and active in the 1970s. This increased scientific activity has brought new ideas,
processes, and inventions in an ever-growing amount.

This brings us to another characteristic of modern technology, its relationship to science.
Today, science and technology are closely related. Many modern technologies such as nuclear
power and space flight depend on science and the applications of scientific knowledge and
principles. Each advance in pure science creates new opportunities for the development of new
designs and ways of making things to be used in daily life, and in turn, technology provides science
with new and more accurate instruments for its investigations and research. This has been a
recent phenomenon, however, with its beginnings in the 16th century. Before then, science and
technology were separate fields with separate identities. Science involved the ideas and
investigations of philosophers who sought knowledge of the natural and physical world.

The scientific revolution that began in the 16th century was the first time that science and
technology began to work together. Thus, Galileo, who made revolutionary discoveries in
astronomy and physics, also built an improved telescope and patented a system of lifting water.
Francis Bacon favored experimental science and suggested that scientists learn the methods of
craftspeople while craftspeople learn more about science. Bacon, Descartes, and other scientists
envisioned a time when humans could master the environment. Ever since, science and technology
have grown closer together.

However, it was not until the 19th century that technology truly was based on science and
inventors began to build on the work of scientists. For example, Thomas Edison built on the early
experiments of Faraday and Henry in his invention of the first practical system of electrical
lighting. So too, Edison carried on his investigations until he found the carbon filament for the
electric light bulb in a research laboratory he started in Menio Park, New Jersey. This was the
first true modem technological research. It is generally agreed that 'Man is a toolmaking animal.’
In a sense the history of technology is the history of "man," or all humankind. One of the major
determining characteristics of human behavior is the fashioning of tools. This is a pattern of
innovation requiring thought rather than a pattern of instinctive behavior characteristic of other
animal species. It is this ability to apply technological methods that separates humans from
animals. Humans have technology, while other animals do not. Since toolmaking is an important
aspect of human nature, the history of technology is the history of humans. Thus, we must begin
our investigation of technology at the very beginning of human history.

The Effects of Technology

Modern technology has had a tremendous effect on the lives of people throughout the
world. Inventions such as the automobile influenced where people lived and worked and how they
spent their leisure time. Radio and television changed people's entertainment habits and brought
them information about world events as they happened while the telephone revolutionized
communications. Today, technology has brought goals into reach that few would have dreamed
were possible 100 years ago. Humans have the capability to conquer hunger, cure and prevent
many diseases, and transport goods and people swiftly and easily all over the world. Even space
travel has become a reality.

Over the centuries of human history, technology has benefited people by increasing their
production of goods and services, reducing the amount of labor needed to produce goods and



services, making labor easier, and bringing higher living standards. Technology has made a
tremendous increase in the production of goods and services possible and today workers can
produce many more goods than workers of 100 years ago. For example, in the 1800s, people and
animals provided the work force on American farms while today machines do most of the work.
Machines have reduced the amount of labor needed to produce goods, thereby increasing worker
productivity and giving them more leisure time. In the 1800s, factory workers toiled 12-16 hours
a day, 6 days a week, and vacations were unheard of.

Today, most American and European workers work 8 hours a day, 5 days a week, and have
paid holidays and vacations. Technology has also made work easier as machines perform most of
the laborious functions that used to be done by hand. Finally, the increased production of goods
has produced high living standards in the world's industrialized nations where people are better
fed, clothed, and housed than ever before in history. Technology has also increased our life span
as better health care, nutrition, and sanitation have helped to eliminate and control disease.

Despite the many benefits technology has brought, it also has created serious problems.
Although technology has enabled people in the industrialized nations of the world to live better
and fuller lives, only a small part of the world's population enjoys the full benefits of modern
technology.

Moreover, the industrialized nations have been plagued by the undesirable side effects of
technology such as air and water pollution. These side effects are largely the result of the fact that
most technological innovations were put into use without any consideration or realization of
possible harmful side effects.

Thus, the advent of the automobile opened up wondrous new possibilities but as more and
more automobiles came onto the roads, traffic, noise, and air pollution from exhaust fumes also
came in its wake. Among the most unwelcome effects of technology have been environmental
pollution and the depletion of the world's natural resources. Today, most industrialized nations
face problems of air, water, soil, and noise pollution. Although automobile exhaust and factory
smoke and waste are the chief culprits, the products as well as the processes of industrialization
also contribute to pollution.

Thus, some chemical insecticides pollute the soil and water and also endanger plant and
animal life. Power plants that bum coal and oil to generate electricity spew tons of pollutants into
the air. The increased production techniques brought by technology have also led to a great
depletion of the world’'s natural resources. As power production increases to meet ever-
increasing production demands, the supply of fuels is rapidly decreasing. Many fear we are in
danger of running out of oil and other resources that are not replaceable.

Other serious challenges have been created by technology. Perhaps the most important is
controlling nuclear energy. Nuclear weapons threaten the very existence of our world. Although
nuclear energy has been put to productive uses such as nuclear power plants to generate electricity,
these too have proved to be dangerous. Events such as the Chernobyl disaster show that nuclear
power plants can endanger human life if radiation leaks into the air. Moreover, disposing of
nuclear waste, which remains dangerous for thousands of years, is a troublesome problem that
still awaits solution. Still another serious challenge is the world's growing population, which is a
direct result of medical technology and its new drugs and techniques. As life expectancy goes up
and the birth rate rises, population increases cause serious problems in the poorer developing
nations where hunger and poverty remain a fact of life.

2. Translate the following sentences into English using highlighted vocabulary from the
above text.

1. VuiBepcuTeTH TaKOX 3/1MCHIOIOTH BEJIUKY KUIBKICTH (PYHIAMEHTAJIBHUX JIOCIIIKEHb.
Hanpuxnan, yHiBepcuteT BickoHCiHA BOJIOJI€ MAaTEHTOM Ha METOJ 30UIBIIEHHS BMICT
BiTaMiHy /| B XapuoBHX NMPOIYKTaX.



2. Ilnara 3a mpaBO KOPHCTYBAaTHCS MATEHTOM JOIMOMArae MmiATPUMYyBaTH YHIBEPCHUTETCHKI
naboparopii i 6araro ramxy3ei MPOMHUCIOBOCTI TaKOX JAIOTh T'POIIl YHIBEpCHTETaM Ha
JOCIIJHULIBKI LTI,

3. 3 ixmoro 60Ky, KOMepIiitHi 1abopaTopii 3MIHCHIOITH JOCTIKEHHS IS 1HIIHX KOMITaHii
HA TJIATHIH OCHOBI.

4. Benuka bpuranis 30ipmMIa CBOIO MIATPUMKY HAYKOBHUX 1 TEXHIYHUX BUHAXOiB. B 60-x
pokax OaraTo OpHTaHIIIB CKap)KWJIUCh HA €MITpallif0 HAyKOBUX 1 TBOPYMX POOITHHKIB,
OCKIUJIbKM OPUTAHCHKUX HAYKOBIIIB Ta IHKEHEPIB MePEeMaHIOBAIN 0 1HIIUX KpaiH.

5. TakuMm YMHOM, JeSKI XIMIYHI 1HCEKTUIMIM 3a0pyJHIOIOTH TPYHTH 1 BOAY 1 TaKOXK
3arpoXyrTh POCIMHHOMY Ta TBAPHHHOMY ICHYBaHHIO. EJeKTpocTaHIlii, M0 CHAIOITh
BYTULIA 1 HAPTY, 1100 BUPOOUTH €ICKTPUKY BUKHIAIOTH TOHU 3a0pYTHIOIOYMX PEYOBUH B
HOBITPSI.

6. 30uTbLIEHHS BUPOOHUYMX TEXHOJIOTIHN, IO CIPUYMHEHE TEXHOJIOTIYHUM PO3BUTKOM TaKOXK
MIPHU3BEJIO J0 BEIMKOTO BUYEPIAHHS CBITOBUX MPUPOTHUX PECYPCIB.

7. 31 3pocTaHHSIM BUPOOHHIITBA EJIIEKTPOCHEPTii /i 3aJ0BOJICHHS BCE3POCTAIOUMX
BUPOOHUYMX MOTPEO, MOCTAuYaHHSI MaINBA Pi3KO 3MEHIITYETHCH.

8. bararto mronelt 00iThes, O MU B HeOe3neri BUYepHaHHd HAaQTH Ta IHIIUX MPUPOJTHHUX
peCypciB, 110 HE € BiTHOBIIFOBAaHIMH.

9. CHIA He enuHi, XTO poOUTH HAroJIOC Ha PO3poOLi 1 PO3BUTKY 1 BEIMKOMACIITAOHIM
MIATPUMII, KA HAAAE€THCS HAYIIl Ta TEXHIIIL.

10. HaBiTh y Tak 3BaHUX HEPO3BHHEHHX JIepXKaBaxX € CIPOOM IMPOCYBaTH BHHAXOAHM Ta
BIJIKPUTTSI, YA TIPUHAWMHI MPUCTOCOBYBATH BUHAXOIU PO3BUHEHUX 3aXiTHUX JEPIKaB JI0
CBOIX BJIACHHX TOTPEO.

11. Came nrojchbka AiSUTBHICTH 3MIHIOE MaTepialIbHUN CBIT JJIs 32JIOBOJICHHS JIFOJICHKUX
noTpeO.

12. JTlroncTBO 3AaTHE JOJIATH TOJIOJ, JIIKYBATH 1 3ano0iratu 6aratboM XBOpoOaM, TOCTABISITH
TOBapH 1 JTFOACH MIBUAKO 1 JIETKO IO BCbOMY CBITY.

13. I3 miAgBHWIIEHHSIM CEepeIHbOI TPUBAIOCTI JKUTTS 1 3pOCTAaHHSIM PiBHS HApOKYBaHOCTI,
3011BIIY€THCS KITBKICTh HACEJIEHHS, 1110 CTBOPIOE Cepio3Hi MpobiaemMu B OITHUX KpaiHax,
10 PO3BUBAIOTHCS, /1€ O1THICTH 1 TOJO/ 3aJTUIIAIOTHCS MPABJIOI0 KUTTSI.

3. Translate the following words and word-combinations into Ukrainian in a quick manner.

To protect by patent, background and training, salable products, hold a patent, patent royalties, on
a fee basis, aircraft and missiles industry, accord support, grant preferential treatment, brain-drain,
to lure to, to regain the premier position, rotary steam engine, crank, gear, wheel, lathe, strong cast
iron, interchangeable parts, wide array of disciplines, long series of inventions, long line of
inventions, to embody, to satisfy needs, to alter the environment.

4. Translate the following words and word-combinations into English in a quick manner.

[IponykTHBHICTH Tpailli, MAKOPUTH HABKOJHIIHE CEPEIOBUIIE, MEXaHIYHE 00JaTHAHHS, TEMIT
BUHAXO/(iB, 3 HAJ[3BUYAHHOIO IIBUAKICTIO, TOYHI MpHIaAH, 3400yBaTh 3HAHHS, KBamiQikoBaH1
poOITHHKH, mMependadaTy, BYTJEIEBa HHUTKA, €JIEKTpUYHA JIaMIIOYKa, TBApWHA, IO 3/JaTHA
BUPOOJIATH 3HApSAAJS Mpalli, po3poOKa 3HapsIb Hpall, J0JaTH TojoJ, JIKyBaTH 1 3amo0iratu
OaraTboM XBOpoOam, MIBUAKO 1 JIETKO, MOKPAIlyBaTH PIBEHb KUTTS, 3HAUHE 30UIbIIEHHS, BaXKKO
IPaLIOBATH, TPUBAIICTH KUTTS, YCYBaTH 1 KOHTPOJIIOBATU XBOPOOH, OYTH YpaKeHUM, 3’ IBUTHCH,
BUYEpIIaHHS CBITOBUX MPHUPOJHUX PECYPCiB, TOJOBHI BUHYBATIll, BUKUIATH 3a0pyIHIOIOY]
PEUOBMHH, 33J0BOJIBHATH BCE3pOCTalO4i MOTpeOM BHUPOOHMIITBA, HEBITHOBIIOBAHI pPeCypcH,
BUPOOJISITH €JIEKTPOSHEPTit0, POCOUYBAaTUCS B MOBITPA, YTHII3aLlis SIIEPHUX BIAXO/IB, CKJIa/HA
npobiema, cepesiHsl TPUBAIICTh JKUTTSL.
5. Read the article, answer the questions and translate it.



A Perched on the edge of a cold, windswept dune in North Carolina, | was about to fulfill
a dream | shared with Leonardo da Vinci: To fly. The Renaissance genius spent years deciphering
the flight of birds and devising personal flying machines. On his deathbed in 1519, Leonardo said
one of his regrets was that he had never flown. Five hundred years of innovation since then had
produced the hang glider | held above my head, simple and safe enough to be offered as a tourist
entertainment. But despite those centuries of adventure and experimentation, personal flight—the
ability to bound from Earth like a skylark, swoop like a falcon, and dart as blithely as a
hummingbird—remains elusive.

B Leonardo drew hundreds of images of birds on the wing, trying to decode their secrets,
and drafted meticulous plans for flying machines not unlike today's gliders and helicopters. But he
never figured out the physics of flight. It took more than 300 years and many more failed
experiments until Sir George Cayley, a British engineer, determined that flight required lift,
propulsion, and control. He built a glider with a curved wing to generate lift. It gained enough
speed to fly but crashed after only a few hundred years.

C The best success in purely human-powered flight came in 1988, when the Daedalus, a
lightweight aircraft built by a team at the Massachusetts Institute of Technology, flew 71.5 miles
from the Greek island of Crete to Santorini. The 69-pound craft, pedaled by a Greek Olympic
cyclist, got caught in turbulence as it approached the beach at Santorini. It crashed in the sea, a
few yards from the shore.

D Inventors continue to try to bring the comic book fantasy of personal jet flight to life,
and Yves Rossy has come closest. This Swiss pilot flings himself out of an aircraft wearing a six-
foot-wide carbon-fiber wing of his own invention, powered by four tiny jet engines. In May, Rossy
leaped from a helicopter above the Grand Canyon and flew eight minutes before parachuting to
Earth. The jets give him powered ascent and the oomph to do loops. That freedom doesn't come
easy; it took Rossy years to master his tiny craft. "I steer myself in space with only my body," he
explains. "To go left, I turn my shoulders left, and that's it!" He says it's like parachuting with a
wing suit.

E You won't catch me jumping out of a plane with a wing strapped to my back. But | yearn
for even a small measure of Rossy's joie de vol. After five runs off the Outer Banks dune last April,
I was getting closer—able to fly into the wind, then floating gently down onto my feet. It was as
if the glider wasn't there.

F But | wanted more. Sandra Vernon, a 47-year-old mother of three in my class on the
dune, egged me on. She'd been flying towed tandem flights, pulled up to 2,000 feet behind an
ultralight. This usually grants a hang glider a good ten-minute flight back down to Earth, even if
there are no rising thermals to help keep the craft aloft. "I'm short, I'm chubby, I'm not spry,"”
Vernon says. "l wish | had been doing this in my 20s. You can't help but love it."

G Challenge accepted, | strapped myself into the harness of a tandem glider with instructor
Jon Thompson. He warned that the moment when the towplane released us would remind me of
going over the top of a roller coaster. I'm a coaster fan. This was nothing like that. It felt like falling
headfirst off the top of a 2,000-foot-tall building. "You can fly now,"” Thompson said, genially
offering me the controls. "No!" I shouted over the wind. In a few moments the glider gained lift
and leveled off. My terror waned, and | took control. | banked left, then right—more of a pigeon
than a sooty shearwater but flying all the same.

6. In which section of the above written text are the following mentioned?

improving one’s performance with practice 1o
flying with an experienced professional 20
the first glider ever to fly a short distance 30

disappointment over an unfulfilled dream 40



a great deal of time to learn how to do something 50O

longing for the same experience as another person 6 o

a flying machine powered by human legs 70
encouraging someone to try something new 80O
someone experiencing great fear 90
flying apparatus powered by fuel 100
7. Choose the correct answers and translate the sentences.
1. Unfortunately, solar power isn’t cost- unless you live in a sunny part of the world.
a. Capable b effective c valuable
2. I’'m afraid my diet was rather . I was too hungry to keep it up for more than a couple
of days.
a short-term b long-lasting c short-lived
3. Andrea’s report was . I couldn’t have explained the situation any better.
a spotless b spot on C spotty
4. Because polystyrene is such a poor — of heat, it is the ideal material for disposable coffee
cups.
a conductor b conduit ¢ mediator
5. The statistical __ made it difficult to compare the data from one year to the next.
a variety b anomaly ¢ inconsistency
6. They didn’t want to his scientific theory even though it was contradictory.
a dispose b refuse c discard
7. Didyou bring any eating ____ or are we going to have to use our fingers?
a forks b utensils c tools
8. Newborn babies shouldn’t feed from bottles that haven’t been
a sterilized b contaminated c refreshed

8. Complete the sentences with the correct form of the words. Translate them into Ukrainian.

1. is responsible for many of the changes we’ve seen in the last 100 | AUTOMATE
years.
2. In order to determine the of a substance, you’ll need to carry out | PURE
tests.
3. The invention of the line revolutionized the manufacturing ASSEMBLE
industry.
4. The formation of rust on iron is one of the most familiar examples of CORRODE
5. Archimides discovered the principle of liquid when he was having | DISPLACE
a bath.
6. These days, sewing machines can embroider clothes in minutes. COMPUTER
7. My grandmother recovered from hip surgery very quickly. REPLACE
8. Making quick about people can lead to injustice and should be ASSUME
avoided.

9. Translate the sentences into Ukrainian paying attention to the use of contextual

replacement.
1. These forces tend to become significant when the electron clouds of the molecules

overlap.
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10.

Perpetual Motion is a long-held concept of a system that could provide useful work
indefinitely, once set in motion.

The whole product development process is increasingly multidisciplinary.

However, these optimistic expectations had already begun to be undermined in the 1930s.
The barometer is thus the basis for all meteorological prediction.

Local government is ill fitted to resist any encroachment on its powers by the central
government.

Although homeopathy is discounted by most doctors, it is still widely practiced.

One of the major handicaps faced by offenders in their attempts to earn a legitimate
livelihood is an inadequate education.

Air offers about 15000 times as much resistance to heat flow as a good thermal conductor
such as silver does, and about 30 times as much as glass.

. While social issues receive enormous media attention and are of critical concern to

Aboriginal people themselves, they are merely one element of the bigger picture.

. Translate the sentences into Ukrainian paying attention to the use of modulation.

No one norm is always obeyed; and no one person obeys all norms.

A simple concept, fugacity, allows for the nonideal behavior of gases.

Such operating modes require elaborate “executive”

Programs to attend to the administration of the various tasks.

One of the species will be eliminated unless it can evolve to occupy a slightly different
niche.

Humanistic psychologists focus on the ways in which individuals evolve health
personalities and the means they employ to achieve this goal.

Hydroelectricity is produced from the energy of falling water; among renewable energy
sources, it is the most technically mature; only wood makes a larger contribution
worldwide.

The intimate relation between instrumentation and the generation and testing of scientific
theories has always been apparent to the productive scientist.

A different line of thought suggests that works of art are not like objects even on a first
impression.

Often, managing conflict involves the passage of laws.



